12" Universal Mount Series

MT-MR-UM-1150-0250-0025-090-XX ] ‘ MT-MR-UM-1150-0550-0025-090-XX

MT-MR-UM-1150-1150-0025-090-XX

Standard Material | Steel = A36 Low Carbon Steel | Aluminum = 5052-H32 Aluminum
Standard Finish | 02 - No Finish
Available Finish(es) | N/A
Hole Size | 11/16" (17.46mm)

Recommended | 5/8"-11 Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
Hardware | (116 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools | Tool Kit 1
For More Info | www.ModTruss.com

MT-MR-UM-1150-0250-0025-090-ST 11.50" x 2.50" x 0.25" 3.70lbs (1.67kg)
12"x 3" x 1/2"90° Universal Mount Steel (292.10mm x 63.50mm x 6.35mm)
MT-MR-UM-1150-0250-0025-090-AL 11.50" x 2.50" x 0.25" 1.25lbs (0.56kg)
12"x 3" x 1/2"90° Universal Mount Aluminum (292.10mm x 63.50mm x 6.35mm)
MT-MR-UM-1150-0550-0025-090-ST 11.50" x 5.50” x 0.25" 8.25lbs (3.74kg)
12" x6" x 1/2"90° Universal Mount Steel (292.10mm x 139.70mm x 6.35mm)
MT-MR-UM-1150-0550-0025-090-AL 11.50" x 5.50” x 0.25" 2.851bs (1.29kg)
12" x6”x 172" 90° Universal Mount Aluminum (292.10mm x 139.70mm x 6.35mm)
MT-MR-UM-1150-1150-0025-090-ST 11.50" x 11.50” x 0.25" 17.25lbs (7.82kg)
12" x12"x 172" 90° Universal Mount Steel (292.10mm x 292.10mm x 6.35mm)
MT-MR-UM-1150-1150-0025-090-AL 11.50" x 11.50” x 0.25" 5.75lbs (2.60kg)
12" x12" x 172" 90° Universal Mount Aluminum (292.10mm x 292.10mm x 6.35mm)

In Stock Reusable

U.S. Patent No. 8,418,425 & other patents pending
109



XX-060-5200-XXXX0G L L-WN-AW-IW ﬁoom.m_m_g ﬁoom.m_m_g fo1°8¢]
ATWY4 INNOW TVS¥IAINN .2 L Looost
INOILJNOSIa @) @) o) o
waosnas [ 4102/5/8 P *
wrsegsiany |- SSNALPON forzez] EE® 9 @ °©
0511 670
/O O O O
| [0T9/]
o O o O 00'¢
[6€'9] T,m&
o7 5z | |
XX-060-5200-0§ L 10§ LL-Wn-¥W-1w (%% - el
01°267] fores] 3
0Lz6e 0L 6sl . =
0s'L1 0SS . ﬁoo_%_g m
TV-060-G200-0S 1 L-0G | L-WN-IW-IW WNANIWNTY SLIXSTLL _ o o ..W
1S-060-G200-0S L 1-0S L L-WN-adW-LW 13318 SLIXSTLL m
. . O O <
¥-060-5200-0550-06 L L-WN-IW-IW | WANIANNTY | §'SX.S°L L [or'zer] [ovai] =
051l 69' 0 »y d =
1S-060-G200-0550-0S | L-WN-IW-LW 1331S WSGXSLL O ?N.@L Wo
TV-060-G200-0520-0G | L-WN-3IW-IW WNNIWNTY STXS 1L 1) o T 00°€ OM
< v o 1 [6e9] =
= 1S-060-G200-0520-05 | L-WN-3dW-LW 1331S STXGTLL . . S
: . :
S ¥IGANN 14Vd TVI¥IIEAW | HIGIM X THONT T [0c'9/] [51€] i
S XX-060-9200-09590-05LL-WN-YIW-IW oo oAl =
0 o
£ g . loreeg [05°€9] lo1'se]
88 = 05LL 05T [ ot
E = —
& = T
S = (9% 2] :
o = . 0z9.
g z 01267 oo N|°| ﬁoo.m;
=) \ 05°LL
= | (1HONT
= W \ /O
e
= R
- w Wm.& | Ge9 \
.m w 5T mm.h L [scie]
o XX-060-9200-0S20-0SLL-WN-YW-IW Al
w)
=< >< —~ - <L D I > -I- -I- —
- LLJ a. — a. - < W e = i (&)




	12_-Universal-Mount-Series_ModTruss-1
	12_-Universal-Mount-Series_ModTruss-2

